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Part- 1 (01-50)

1. Identify the type of sentence.
| have often wondered, what happens to us in old age.

A) Declarative B) Interrogative
C) Exclamatory D) Compound
2. Choose the option that best fits into the blanks in the given sentence.
Hillside Water Park is ideal place for anyone who wants to have fun
during hot summer months.
A) A a, the B) The, an, the
C) The, a, the D) A, the, a

3. Which of the below descriptions are the most suitable to define the function of a
comma?

A) Indicates where a sentence ends B) Indicates a question
Q) Indicates someone else's words D) Indicates when a pause is required in a
sentence

4. Choose the correct option.
The Sharma'’s were living in a temporary

A) acommodation B) accammodation

C) accomodation D) accommodation

5. Choose the correct option to fill in the blanks.

Please ____ a little louder. | cannot___ you.

A) spoke, hear B) speak, hear

C) speak, heard D) speaking, hearing
6. Choose the option that best fits the blank in the given sentence.

The tiny grooves in long-playing records are called _____ grooves.

A) micro B) macro

C) multi D) mono

7. Pick an antonym for the word given from the options given below.

Strategic
A) Trivial B) Vital
C) Parody D) Baseless
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8. Fill in the blank with the appropriate tense form of the verb.

When we the world around us through the eyes of the scriptures, our
understanding of it

A) are viewing, changed B) views, is changing

C) view, changes D) viewed, changes

9. Health and safety at work is responsibility.

A) everyones B) everyones'

C) everyone D) everyone's
10. Choose the correct option.

Due to an accident which affected her mental health her behaviour has become very

A) jovial B) predicative
C) unpredictable D) nonpredictable

11. YRA B YHIRIG B alell Uga 3ol THRIR UF DH-91 U1? /
Which was the first English newspaper to be published in India?

A) aaﬁﬁagm/ The Bombay Times B) E%WE'I%W/ The Hindustan Times
C) T BIAS / The Comrade D) feae! BT ST TI9IC / Hicky's Bengal

Gazette

12, YRA & AU & e Sgee & ded APUfd XA & AR 31 o1 bl 82 /

President's rule can be imposed under which Article of the Constitution of India?
A) 3TE5¢ 356 / Article 356 B) 3fT=5G 265 / Article 265

C) 3fT=5G 370 / Article 370 D) 3¢ 275 / Article 275
13. HaYTFp IUIRI & 3IfYPR & d8d T Ty B! fbd UHR B e TR B Bt

fE 8?2 / Under the Right to Constitutional Remedies, the Supreme Court has power
to issue how many types of writs?

A) Ui / Five B) @ / Three
C) 3113 / Eight D) ©8 / Six
14. Fofafea & @ 1F-91 3y RIS Rid T T aais- ®Id 8?7 /

Which of the following World Heritage Sites is an astronomical observation site?
A) MWW/ Humayun’'s Tomb B) HETEIY HfdR / Mahabodhi Temple

Q) WT@HW/ Manas National Park D) SfaR HcR / The Jantar Mantar
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15. f9 PSU A ®IARE IHFT 407t T IHT IUdfed & dgd UfiSd ClI-ITC TReAfafere!
&Iﬁlﬁﬂ 2019 SftdT 82 / Which PSU has won the prestigious ClI-ITC Sustainability
Awards 2019 under the Outstanding Accomplishment in Corporate Excellence

category?
A) SE3fTa / 10CL B) TSIt / NTPC
C) THUSETd / SAIL D) TS TS / BHEL

16. FofaRad & @ ®F-91 YRd &1 9ed e g g7/

Which of the following is the lowest point of India?
A) IR BID / Sir Creek B) $SIS / Kuttanad
C) 3faI P / Indira Col D) fasigTR / Vijaynagar

17. D! fay eRIER ®id gt fovg ey ot Irwrert Atz /
The UNESCO World Heritage Site Hampi served as the capital of which empire?

A) OT€dT / Pandya B) BIINId / Hoysala
C) fasgT R / Vijayanagara D) X[¥hC / Rashtrakutas

18. HI-T1 SV HRA P 1Y &4 ol AT JTH HRAT 82 /

Which country shares the longest border with India?

A) T / China B) UIfah ¥l / Pakistan
C) 3BT / Afghanistan D) SiTelIGRT / Bangladesh
19. IR H "SFAIURT eR o HASHYR & A8 F ot o171 w7 B, Fofafed o 9 fg

XTSI gIRT 1T T UT? / The town ‘Kanispora’ also known as Kanishkapura in Srinagar
was built by which of the following kings?

A) gfdh T / Huvishka | B) Y9 / Samudragupta
C) HIh / Kanishka D) %t / Kadphises

20. Fofafad @ HH-T1 feare! sik 39 Wd SR &1 ST Tet gafad T8 87 /
Which of the following players and their sports discipline pairs is NOT matched
correctly?

A) fasier: gaéwsﬁ / Vijender : Boxing

B) W& 3fUdTal: fhdhe / Mayank Agarwal : Cricket
C) UTPUT! HRAY: <Y / Parupalli Kashyap : Tennis
D) 3qurf diye: dsfiied / Aparna Popat : Badminton
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21. Q1 YaTHga SBRY g 3R XgUfd St 31 HURT: 7 : 8 & 3IUTd H g1 -l a9 91g I8
3T SHHRT: 8 : 9 B SITUT | XUl &1 gad g @ ) favait g7/
Two retired officers Abhimanyu and Raghupati ages are in the ratio 7: 8 respectively.

Nine years hence this ratio will become 8 : 9 respectively. What is Raghupati’s present
age (in years)?

A) 68 as / 68 years B) 72 s/ 72 years
C) 75 d% / 75 years D) 78 a4 / 78 years
22. W AT FABR YT DI IR DI /

Complete the series choosing the missing number.
1,03,2 __,4,7.

A4 B)5
Q3 D) 2

23.T% g1d H, & SHGART H § U &1 G Hdll Bl 40% WK g1 3R 98 100 Hdl ¥ R
7| wﬁaﬁmnﬁaﬁwm% / In an election, one of the two candidates

got 40% of the total votes cast and lost by 100 votes. The total number of votes cast
in the election is:

A) 400 B) 500
C) 600 D) 700
24. %[‘@IFITf[ SATAT UG T 82 / What is the next term in the series?
3,5,8,12,17, _
A) 24 B) 23
Q) 22 D) 21
25. a1 TS okaan & Seett &1 Ue SiHH 601 T § | dGI9R Ied Saie & Ugd™

PITTI / The series given below contains a sequence of numbers. Accordingly identify
the INCORRECT combination.

4,9, 36, 41, 164, 170, 676

A) 676 B) 170
) 36 D)9
26. FARfRad & HH-TT 31eR T 87 / Identify the missing letter.

G ]
T W
] X
R ?
W £

A) O B) U

0G D) W
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27. <1 YRAG1 1 Y b o< BT 3R 8 A g1 12 Y UG, TSI B MY BICT Bl G ot | TSI
ﬁﬁa?ﬁ:lﬂ &Wqﬁv_cﬁ"[%‘? / The difference between the ages of two daughters is 8

years. 12 years ago, the elder one was twice as old as the younger one. The present
age of the elder daughter is:

A) 28 T / 28 years B) 26 9N / 26 years

C) 24 Eltf/ 24 years D) 22 a’ﬁf/ 22 years
28. 10 T3¥ 30 &1 & forelt S & Q1 v &, ST B &1 25 a1 § 1 -1 A & forg

Wgﬂ‘raﬁ ARG H T gRIT? / If 10 men complete a piece of work in 30 days, how
many men are required to complete the same in 25 days?

A) 35 B) 18
C) 12 D) 20
29. Wﬁ'@rrﬁﬂwwwﬁﬁw / Select the missing number from the options.
32 40 48 ? 64
A) 54 B) 56
C) 58 D) 52

30. e € TS g B WReArsli &1 T hH a1 T § | ISR TAd S &I UgdT

PITT / The series given below contains a sequence of numbers. Accordingly identify
the INCORRECT number.

4,5,14,14 ,34,36,74,68
A) 74 B) 34
Q) 36 D) 68

31, A «ifST f Ui SH=ial o7 3id ATdiies dd 600 0T § 3R Ife 370 I T
HHIRT & I J Ufa TwTe 100 T Bi gfG SNl 8, 0 71 S B /

Suppose the average weekly pay of five workers is Rs. 600 and if one of the workers
gets a pay rise of Rs. 100 per week, then the new average is:

A) 600 2UU / Rs. 600 B) 700 ¥YU / Rs. 700
C) 580 ®¥YU / Rs. 580 D) 620 ¥UU / Rs. 620

32.TH ¢ 80 fohHl/ deT &1 ard § Iac | 24 e & I8 ¢ foham Hiex &1 g @ R aie /

A train travels at a speed of 80 km/ hr. How many meters will it travel in 24 minutes?
A) 28,000 HITR / 28,000 m B) 30,000 HI2X / 30,000 m

C) 32,000 HIeX / 32,000 m D) 34,000 HICR / 34,000 m

33. 10 RN 3R 15 A BT BT 17,000 TUA §1 8 HRIAT SR 12 Toll B Hod 1872 /
The cost of 10 chairs and 15 tables is Rs. 17,000.
What is the cost of 8 chairs and 12 tables?

A) 13,700 ®YU / Rs. 13,700 B) 13,600 ¥UU / Rs. 13,600
C) 13,800 »UT / Rs. 13,800 D) 13,900 ¥UU / Rs. 13,900
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34. frgfafea o gufarer &1 eF- G{&I??jl«_’[%? / |dentify the missing alphabet.

W
?

— |- |Z|w|=
oo |w

A) P B)S
Qu D) T

35. 15 ORI T 31 3ieh 35 51 UUH 8 UURT P il T 379d 38 § SR Sifciw 8 Yl o
3d 30 g1 87 YR & 3 AT 82 / The average mark of 15 papers is 35. The average
of marks of the first 8 papers is 38 and that of the last 8 papers is 30. What are the
marks of the 8" paper?

A) 18 B) 19
Q)17 D) 16
36. afe 80 fiRfIe 80 f&=t & 80 AfRTdl & ARA & o 4 IRFIe 4 AfFay! &1 fodq fet

ARM? / If 80 chameleons kill 80 flies in 80 days, then 4 chameleons would kill 4 flies in
how many days?

A) 6 f& / 6 Days B) 4 f& / 4 Days

C) 80 f&1/ 80 Days D) 10 f&-1/ 10 Days

37. Fufafaa o &1 srerga & 3R Uy &1 W ¢

Heh 9 2 1 7 5 3 6 4 8

Fis B Vv M L D P A F R
mﬁ(g:uﬁmsﬁ?&rﬁn%w%ﬁﬁﬁ&m&W$aﬁgmﬁ%ﬁm
icikd
ﬁ(g:ﬁ%ﬁﬁ?ﬂﬁﬂ%ﬁﬂﬂ%ﬂ’fﬁﬁﬁ%ﬁ%%qﬂsgmwﬁﬁsdm
icikd

U%:- 35478 & fold HIS J1d PifoW| /

Study the following rule and answer the question.

Digit 9 2 1 7 3 3 ] 4 g
Code B V M L D P A F R
Condition (1) If the first and last digit are even both are coded by the code for last
digit.
Condition (2) If the first and last digit are odd both are coded by the code for first
digit.
Question:- Find the code for 35478.
A) PDFLP B) PDFLR
C) RDFLR D) RFLDP
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38, fuferad fAaw &1 sieaa= 3 3R Uy &7 IR

3w 9 2 1 7 5 3 6 4 8

&HE B Y M L D P A F R
sﬁf(g:uﬁm@wﬁn&@w%a‘raﬁﬁ&mwawﬁsgmw?ﬁtsd%m
S8l
Sﬁ(g:qﬁmeﬁ?&ﬁﬂ&'@ﬁw%,ﬁﬁaﬁ%ﬁ%%wﬁs<a|<|or>“||'%d%m
S gl

U%:- 2853456 & AT HIS J1d HIfTI /

Study the following rule and answer the question.

Digit 9 2 1 7 5 3 6 4 g
Code B V M L D P A F R
Condition (1) If the first and last digit are even both are coded by the code for last
digit.
Condition (2) If the first and last digit are odd both are coded by the code for first
digit.
Question: - Find the code for 2853456.
A) ARDPFDA B) VRDPFDA
C) AADPADA D) VRDPFDV

39.IfE AT = 20,1S = 171, IF = 54 g, AT ON &I & ¥U | wifed fear s /
If AT = 20, IS = 171, IF = 54. So, ON is coded as .

A) 100 B) 29
C) 210 D) 30

40. 9 S*8@4=10,6%9@3=183ikr T x 18 @9=143 qg 4x12@3=7,
IfFox8@4=10,6x9@3=18and 7«18 @ 9 =14 then the value of 4 12 @ 3="7

A) 16 B) 14
C) 18 D) 12
MNP -T +dof =8 -Frof xgaR - praf+ g @
15-2 +900 + 90 x 100 = ? / If x means -, + means +, - means x , and + means + ;
then 15-2 + 900 + 90 x 100 = ?
A) 190 B) 180
C) -90 D) -60
4zﬁaﬁf@aﬁﬁﬁuﬂ?ﬂwaﬁﬁm / Choose the odd one from the following.
A)FH)J B)LOR
OKMO D)RTV
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43. 3hY I T B & [T gl 31&R D1 I Diford |/

Select the right letter to complete the sequence.

DQGOJM_ .
A) K B) P
QM D) L

44, TY XS W R I e & 3101 & o Uer dievd a9 At 81 U Igaved - U et
T Fgl foh 99 ¥ e Ugd gt Fdd gl § SiR STl 93 gag 10:35 Fof Faat|
IGUINS A IE B 98 TSGR by IH7d & off? /

A local bus for Thane leaves every thirty minutes from a bus stand. An announcer told
a passenger that the bus had already left ten minutes ago, and the next bus will leave
at 10:35 a.m. At what time did the announcer give this information to the passenger?

A) UTd: 10:15 & / 10:15 a.m. B) WTd: 10:05 &9l / 10:05 a.m.
C) 1A 10: 15 &1 / 10:15 p.m. D) XA 10:00 &1 / 10:00 p.m.

45, B} &1 O 1 SHAX, 2006 DI G AT I fad IAGaR o71 3@ ¥ IR aY qle, IT&HT
WW%WE‘TW%?/ Mary was born on Jan 1, 2006. It was Sunday.

Four years from now, which day of the week her birthday falls on?

A) §YdR / Wednesday B) §8fdIdR / Thursday
C) YhdR / Friday D) QAR / Saturday

46. fpdhe Tdd Y 31T 30 TSR ot st &1 M2 s A |1 36 3 -1 B /

While playing cricket you break the glass of your neighbour's window. You would:

A) TR & HIferd U Ut G arqd [ | /
Demand your ball back from the house owner.
B) Tol fob SUH TR BIs TTaicl ot ATl / Say that it was no fault of yours.
C) gUP 3O Tig aTud o T / Stealthily get your ball back.
D) ¥R & HIfeidh & AT AR 3R RN SGa § SO IRTe™ &l /

Apologize to the house owner and contribute to replace the glass.

47. 39 fapeq &1 79 PIfoNT ot 3 fasheut 9 foa gl
YU, diqd, ST, TP, YPU /

Select the one which is different from the other alternatives.
Sunny, Cloudy, Rainy, Storm, Earthquake

A) SRETId / Rainy B) {WI / Storm

C) dladl / Cloudy D) HhU / Earthquake
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48. ST g 7:50 To1 30T TR BlSdlt g 3R 30 fFe # URT & @R Ugd 9Kl 81 R 35
R 81 ab ugaq | 45 e &F1d &1 R 31 erafyy 2 ger 35 fiFe o 3 Rewn gfa
¥ fhd= st a18R MabalT? / Chandramukhi leaves her house at 7:50 AM and reaches
the home of Paro in 30 min. Then they take 45 minutes to reach the cinema hall. The
duration of the cinema was 2 hr 35 min. At what time they will exit from the cinema

hall?
A) UTd: 11:40 §191 / 11:40 AM B) UTd: 09:05 §9f / 9:05 AM
C) TIU8R 12:00 &1 / 12:00 PM D) UTd: 11:00 & / 11:00 AM

49. 3R fHI gSt # SIUgy & 2 Ioi 20 e fow 38 § iR a8 20 fie it 81 Sg oe
WWWW@W" / If a watch shows 2:20 PM and it is 20 minutes slow, after one
and a half hour what will be the CORRECT time?

A) 03: 55 91T / 3:55 PM B) 04: 00 I / 4:00 PM

C) 04: 05 I / 4:05 PM D) 04:10 ¥ / 4:10 PM

50. R & URT 200 TV B 1 I 4 ST U VT P R Y 6 AT 3R 6 WY U BId BT R I 5
FIdt W 81 1 BIfoE & O & urg feeah afr Qw g2/

Priya has 200 rupees. She buys 6 apples at 4 rupees each and 5 kiwis at 6 rupees each.
How much amount is remaining with Priya?

A) Rs. 100 B) Rs. 120

C) Rs. 160 D) Rs. 146
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Part- 1l (51-150)

51. fepoTe! TenieH AR TPR F e &1/

There are different types of cryptography algorithms.
A)2 B)3
C4 D)5

52. BI9-Hl Aegd eadrs! TR & o et @9 87/

Which network topology is ideal for home?
A) 99 / Bus B) [T/ Ring
C) H¥ / Mesh D) ¥R / Star

53. BHI--91 T ST TR YUITeH U Agl 87 /

Which is NOT a Data Communication System component?

A) TR / Message
B) fl'&?:l'?/ Sender
C) TR / Mixer
D) eRUT (CIITARM) A& / Transmission Medium
54. $URAC U9 H $d o g g 87/
How many bits are there in the Ethernet address?
A) 16 facd / 16 bits B) 32 facd / 32 bits
C) 48 facH / 48 bits D) 64 fScH / 64 bits

55. 98 BIH-IT TIR TR § ST SuanT fid Scds| & Sig 3R Wiihid & Uh de d
§¥I§ A R0 31 & U {5 SITaT 82 / Which is the communication processor used
to connects dissimilar networks and translation from one set of protocols to another?

A) YdgR (12d) / Gateway B) A3 / Router
C) A" / Modem D) R / Switch

56. FUffead & ¥ SIH-97 W (3ifeied) o1 U6 UHR T8l 87 /

Which of the following is NOT a type of automaton?

A) Uit Tara (ffAe 3ifeae) / Finite automaton
B) SURIUR TadTe (YRISI3H 3ficiHeH)) / Pushdown automaton

C) AR WdIaH (&, 3TCHEH) / Queue automaton
D) &I BRI / Turing machine
57. $¢1 TRIBR & FTT e o wifsan g1/
The fastest media for data transfer is )
A) DITRIA DHad / co-axial cable B) BIZeR 3P / fiber optic
C) TH®I A8 / telephone lines D) 3Hf¢acs dR / untwisted wire
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58. Tle s Red o Fuftfad d I sH-arary 82 /

Which one of the following is the advantage of embedded system?

A) 3TH JHAT faro / Perfect troubleshooting

B) 33 d¥E W IW@IG / Well maintenance

C) fomr fopit "gﬁ & fafR1y &1 HA1 / Performs specific task without error
D) TH™T AR S &HRAT / Troubleshooting may be easy

59. BI-1 fFURMh® 3¢ (Gead! gHa) o Uall & s TaR &I S1fdd - iR ufkafda
HRA IR AR HaA1 82 / Which cryptographic attack relies on intercepting and altering
communication between two parties?

A) T{c’ﬂﬁﬁ 3-I%$/ Brute force attack B) ﬁq-s:r-aﬁ—sa/ Man-in-the-middle
C) It 3w / Replay attack D) §$ 32w / Birthday attack

60. AR FRIfiT 7 g oy 1 87 /

What is the major benefit of multilayer switching?

A) HH HIIBTRIMA / Reduced configuration

B) Ts-Wis Whafaferct / High-speed scalability

C) ®¥ fddedr / Low latency

D) ﬁﬂﬂ EW YdTg odich / Detailed traffic flow accou nting

61. STIREE HART TR (SITHY) & forg Fafdiiad & 4 -1 w6t 87 /

Which one of the following is CORRECT for Direct Memory Access (DMA)?

A) T TR BT TAT@rT Rwre & uikafdd axar g1/
Converts binary number to analog signal

B) U UIUTH Sl SRATTR 1 HURER gRT I HTsolde UUTH &I FAsaied 3R feam sra
gl/A program that executes and debugs the object program generated by the
assembler or compiler

C) Teh Tt AISShIUTERR Sl T8 T bl 1Tl & b ol AISshITER 3 W & A
W—WW@@WWW%I / A companion microprocessor that
performs specific functions such as floating-point operations independently from
the microprocessor to speed up overall operations

D) U UHR B} S1Yc/3MMSTYC dh-1dh [oTaH AIZDIURIR HI UFGRT o o1 ATSh!
HER TART 3R e IUBHRON & o9 ST VMR foar S Ibar g1 /
A type of input / output technique in which data can be transferred between the
microcomputer memory and external devices without the microprocessor's
involvement
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62. THh TESS Hugex RIeH §, o 30 UHR & Hgex ReH oY TH-d HHeR
(@ a1 R R I AT /
A/an is an applied computer system, as distinguished from other types of
computer systems such as personal computers (PCs) or supercomputers.

A) 3TE3M / 10T

B) S¢MT / intranet

Q) 3T oA (qéé—s'ﬁﬂen) / embedded system
D) $UIER Hedd / computer networks

63. FUfeRad & § HH-T1 HU= T 82 / Which one of the following statements is TRUE?

A) U adam E @t 3R UTde (@) HRAT 8, TSR AT S Bt 3R UTde vt
81/PC points to the current instruction, IR points to the next instruction

B) U 3FTel a1 BT 3R Ui PRl §, TSR qIHH e B 3R Uise PRAT 51 /
PC points to the next instruction, IR points to the current instruction

C) Ul G a1 3T 3R UlEe PRl §, SR aaHH Ha B 3R Ulse PRaT gl /
PC points to the current instruction, IR points to the current instruction

D) U 3nTal e ot 31R UTSe hRdl §, SR 3T RS bt 3R Ulge AT gl /

PC points to the next instruction, IR points to the next instruction

64. fa9T (OEihe) W faaR SINT: Funx -> (x = 2TTx = 3T x = 5) /

Consider the predicate: Funx -> (x =2 Orx =3 Or x = 5)

A) T8 fadg (2, 3, 5) & SIaTAT 3= QuIfes Y= T UfafAfia dar gl /
This predicate represents the integer set other than {2, 3, 5}

B) I¢ fada quries T4 (1, 3, 5} &1 U@ BT g1 /
This predicate represents the integer set {1, 3, 5}

C) ge fadg qurfes wi=g (2, 3, 5) &1 Ul arar g1 /
This predicate represents the integer set {2, 3, 5}

D) 2,3,5 @[?ﬁ?ﬁﬂlﬁﬂ'@m/All numbers less than 2,3,5

65. sjaferd Tt (feias fore) &1 1 THUM 82 / What is the disadvantage of linked list?

A) éa@,ﬁnﬁm'@?ﬁ%‘l / They are massive

B) 31 THRY WY &t W@Fﬁ%l / Requires more memory space
C) ARL &R & BT &1 / Tougher to implement

D) QIS (¥d) Sifeardn 31feid giait g1 / Search complexity is more
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66. Fafeiad & 9 HH-H SR Srciied (@R Jyuidn) &1 uRHTST 87 /

Which of the following is a definition of turing completeness?

A) TP SR HieT T -quf § Tfe vl 3iiflie TRIadf thare (RepRfa thawm)
DI 3P 3R Had fHaT SN IS 81/ A computational model is Turing-complete if
every partial recursive function can be expressed within it.

B) U HICYAA Hisd cT-YUl & IfE T Ul URIG ok P S9d ieR e
far ST awaT g1/ A computational model is Turing-complete if every full recursive
function can be expressed within it.

C) U SRR Hisd cgfT-quf 8 afe 5 $iifich GRTerdf thare o1 38 fex
o el fPaT ST aHhdl g1 / A computational model is Turing-complete if every
partial recursive function cannot be expressed within it.

D)@WWW@%@W@WW@WWW

Tt forar ST ghaT 81/ A computational model is Turing-complete if every full
recursive function cannot be expressed within it.

67. INTHE Wb T FEfied & 9 o1- Ra g e ma g2/

In the OSI stack which of the following layers is the lowest layer?

A) G{WWW (@Hmm / Data link layer
B) WllcTehH URd (ﬁﬁm / Network layer

C) HIfd® Wa (hsiied WaR) / Physical layer

D) URdg- TR (SIUIE W) / Transport layer

8 % foi Re A3 meipia g1 / is a link state routing protocol.
A) 3R3MEU! /RIP B) STSSISMRUT / IGRP

C) 3TIHTH / OSPF D) S3MTSuit3RY} / EIGRP
69. IPv4 TSRITT WIfe ¥ 4a C T9H & ded Jead ot A B/

number of networks are allowed under Class C addresses in the IPv4
addressing format.

A2™ B)2’

027 D) 2 %
70. fE)-3@7 Soit fafma o o =0 I g & Suai fear S g: /

The Diffie-Hellman key exchange is primarily used for:

A) T 3R f$f @M / Encryption and decryption
B) @ﬁ fafmg / Key exchange

C) f&uited XaR / Digital signatures

D) 3{idSl YUle / Data compression
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71. Frfifad & @ S1-91 yRERe a1 o1 qoreH T 87 /

Which one of the following is NOT the property of mutual information?

A) TR-FUMHBAT / Nonnegativity
B) ¥H=UAT / Symmetry
C) BUNMHD T / Negativity

D) WdAdl & dgd YURAISIARET /

Super modularity under independence

72. Wf{ IR Hﬁ% / BNF does NOT comprise of:
A)c HTd / Terminals B) ﬁ?—?&hﬁ/ Non-terminals

C) 3dreA 198 / Production rules D) fafid &9l / Regular expressions
73. Bfqal # for R &1 uar T & fore FRafefad & @ fog sifres o1 SuanT fasar sar 87 /

Which of the following operations is used for edge detection in images?

A) STSARM / Dilation

B) S / Erosion

Q) TIT@EFTWFIT‘FIT@N:T/ Laplacian of Gaussian
D) 3fuf / Opening

74. Repfo wmwr & forw FRgfeRaa & T fo uRnfET |t o1 IuanT fear S 82 /

Which one of the following programming languages is used for scripting language?

A) C B) C++
C) JAVA D) RUBY
75. BT TN A3 GRT Acddh Ud Bl HaR B & ol fbar Sar gl /
The is used by the router to cover up the network address.
A) IR / subnetting
B) WW/ subnet mask
C) TSI / CIDR
D) SATH® BRE HIBIRRA /

dynamic host configuration

76. uﬁﬁ’rﬂqﬁ 42 RUa g Q% / If there are 42 signals in a CPU there will be:
A) BIEATTS AU SHTs & AT 21 foe &t saxgasar grftl /

21 bits needed for the hardwired control unit

B) BTSATTS TN SHTS o foTU 12 foc &1 saxgavar grftl /
12 bits needed for the hardwired control unit

C) BTSaIIS (T SHTs & 1o 42 focq HF a=admdr gt /
42 bits needed for the hardwired control unit

D) BISdITs AU $Ts & fore fansht fore &b Srrazaesdr 61 ] 1/

No bits needed for the hardwired control unit
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77. Gdadh (@ﬂ'{) Th IUDRTT %Gﬁ: / A sensor is a device that:

A) Tdh Hifaes I BT AT 81 / Measures a physical quantity
B) e 1R 1 aRafdd e a1 g1 / Alters a physical quantity
C) Hifde R 1 AyaT 8 3R uRafda s aargl/

Measures and alters a physical quantity

D) Hifdes I o1 7 @ AU § 3R 7 g ulkafdd srargl /

Neither measures nor alters a physical quantity

78. AARY S 3R AWt e Al A FRufofad # @ -1 o feur S g2 /

Which of the following is performed both in a memory read and a memory write?

A) B B 1 R fear o & SR ARt § i o s S g1/
PC is decremented and instruction fetched from memory

B) Ut &1 STl STl & 31k HHRT ¥ =1 ure fohar s g1 /
PC is incremented and instruction fetched from memory

C) THUSHR ST Sid & SR A& AuRt 9 ured fbu Sird g1/
MAR is incremented and instruction fetched from memory

D) THSIIR ¢/ TdT § iR e AW 9 urd fdu wid g1/

MDR is incremented and instruction fetched from memory

79. faftre Tie 3R e & o9 Rfiaxl & Risvrgeie & o et Suwan fear sarg? /

What is utilized for synchronization of the receivers between different slots and

frames?
A) WU / Preamble B) ¢/ Data
C) S fded / Guard bits D) ¢d fSeq / Trail bits

80. Sxgs&YSY US ddh WA Ugd (Riud tadw) fhd Mieidia o uikafdd gidt 82 /

A simple access to a WWW page translates to which protocol?

A) THEHCT / SMTP B) WUt / FTP
C) syt / ubp D) TIdItdt / HTTP

81. Uddd (TRJUCR) QH’TG“CIEIOTUT%G?[: / An actuator is a device that:

A) Tdh Hifae I BT AT 81 / Measures a physical quantity
B) ifas IR 1 uRafdd Har g1 / Alters a physical quantity
C) Hifdep R 1 AT B 3R yRafdd HRar gl /

Measures and alters a physical quantity

D) Hifde A &t 7 o Auar § iR 7 &) uRkafdd sar g1/

Neither measures nor alters a physical quantity
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82. WA Uy Rigid (3iferier @ik &1 urufiie Igxg |1 g? /

What is the primary purpose of automata theory?

A) SGHTHAS (Rl @FTeIHd Hied) & TIER HT ST HAT /

To study the behaviour of computational models

B) HRId HaIAfY (TAENRYH) FSSIEA 31 / To design efficient algorithms
@) Jead TeIhid o1 fARAs0T &A1/ To analyze network protocols

D) ScIad Ul &l &WW / To optimize database queries
83. Y IUTaroll I fAF I3 BT UGN b ST S Jhell &:

el Bl YSAT = /

Mesh topology can be formed by using the formula:

Number of cables =

A) (n-1)/2 B) (n*(n-1))/2
Q) (n*(n+1))/2 D) (n+1)/2
84. ST i wHRIa: TR R &I Sl 51/
Datagram switching is normally done at the layer.
A) tIﬁT:lE:[ @'mtﬁ_ct) / transport B) W/ network
C) 8T/ data D) Hifa® (fBfSiea) / physical

85. TR & foTe Thi §Td I, Se foies IR ford TR & Uave ot 82 /

When creating frames for transmission, the data link layer takes packets from which

layer?
A) Hifd® TRd / Physical layer B) Y1 4T URd / Data link layer
C) 7icdd WRd / Network layer D) E;Iﬂﬁ?f UXd / Transport layer

86. T/t e Aisd H IR WRd Bidil & | el URdll &1 99 Siferd| /
The TCP/IP reference model has four layers. Choose the CORRECT layers.

A) BRE-¢-8RE IR, Hede a1 3MeUl URd, THUIE a1 SRITYT IR, TR URd /
Host-to-host layer, network or IP layer, transport or TCP layer, application layer

B) BC-g-"edd URd, Head IT JTSU! TR, TIITIC a1 SRt IR, U= oRd /
Host-to-network layer, network or IP layer, transport or TCP layer, application layer

C) Headh-¢-8Re URd, T Ul URd, THUIE a1 ST TR, TR IR /
Network-to-host layer, FTP layer, transport or TCP layer, application layer

D) Hed-g--cde URd, THhE Ul IRd, TTIe a1 SRt URd, T R /

Network-to-network layer, FTP layer, transport or TCP layer, application layer
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87. dISiuAt & ey A Fufafd A I oR-ar g agi g7 /

Which of the following is NOT true regarding TDMA?

A) WB‘Q@W%&NWW &nql%[/ Single carrier frequency for single user
B) 3(f¥aR §eT WTRUT / Discontinuous data transmission

@) YD P Bl ATTIHAT gl / No requirement of duplexers

D) 3= F=RUI &I / High transmission rates

88.TH o 3 IR W TS 1 3HfYH LAN S ST § AfdsT WAN &t Ja1 | T
B Ui &8 & SR HRaT gl /

A typically includes one or more LAN but covers a smaller geographic area
than a WAN.

A) PAN B) WAN

C) MAN D) LAN

89. fFAufeifad & § »19-91 v gufia ufrm Tanie T8 872 /

Which of the following is NOT a symmetric encryption algorithm?
A) TSTH / AES B) 3/RTYHT / RSA

C) S1$Td / DES D) 3S1sUd / 3DES
90. Uit o1 fawaivd U 1 81T 87 / What is meant by PVC?

A) RAMC aRkag W/ Permanent Various Circuit
B) Wﬁ?ﬁ\’dﬁﬂ%/ Permanent Virtual Circuit
@) uﬁaﬁ&mﬂﬁﬁ/ Part Virtual Circuit
D) th—(faifx’r{aﬂﬁv_d/ Port Virtual Circuit

91.T&H Jeds H B3 cladrs gial gl /

A network consists of multiple topologies.
A) d8 / bus B) ¥CIR / star
C) BIEfSS / hybrid D) BT / complex
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92. g9 SIfole g HIH-4t ediarsi 82 / Identify the topology.

WRd Cora JLayer
///ﬁiﬂmm \\\\ /7///D|:mbuhon Laya'\\\\i
’,’/ D N qfam(qmﬁﬂ?),/’ \‘\\ e ‘,// \\\ Access Layer v \\\ .
_§ HEE =
A) B Saidisll / Mesh Topology B) il o+ / Daisy Chain
@) ?f[ cIgdrSt / Tree Topology D) grefsig cidrelsit / Hybrid Topology

93. Fufafaada -1 HYT T %? / Which one of the following statements is TRUE?

A) T IRIASTIIT ASHITRR § IR AHERI Yo AoReR B g1 /
A RISC microprocessor has four general-purpose registers.

B) 3RIMSTIY! ARHIVRRI & $8 TSR AS Bl |1/

RISC microprocessors contain few addressing modes.

C) Hremsuaht AERITRRR! ¥ $o T & R ok sgd R As g g1 /
CISC microprocessors contain a few numbers of instructions and very
addressing modes.

D) METERR & SR die a1 ®R MR B 81/

CISC contains mostly load or store instruction.

94. I Fbich 3R fava Gabich & o 3k U8 & b /

The difference between a dense index and a sparse index is that:

A) T& T Yo B Rl & IUqH=y (Faie) & fod FHiordl 3R Uiged gd § said
T foRa Yaoie & 7l Rais & g Hioml ok uised g g1 /

A dense index contains keys and pointers for a subset of the records whereas a
sparse index contains keys and pointers for every record.

B) U qu- YaAHhidh had U WIS Yadhics gl Yabdl § SIafdh U favel qadbid bad
o fgdiad gbIh B HaT g1 / A dense index can only be a primary index
whereas a sparse index can only be a secondary index.

C) U T JaHis § Udd Rabrs & forg Hiorr ofk uided gid € wafd U fava
LaHid H RPIGY & Iuqged (Tadic) & oy ol $ik urged 8Id &1/ A dense
index contains keys and pointers for each record whereas a sparse index contains
keys and pointers for a subset of the records.

D) aﬁé W:IEPI%I / There is no difference.
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95. {5l g e gRT Sers | A1 fobU 7Y uRacH ety 7 o 384 =feul 3 ufRkad-
forelt ot favherar & BRI A8 Y g TRy, for w0 H S o 8 /
The changes applied to the database by a committed transaction must persist in the
database. These changes must NOT be lost because of any failure which is known as:

A) GRHTIIDT / Atomicity B) FRRaT (1) / Durability
Q) IBEGRG] / Consistency D) ﬁ?ﬂ\_rﬂ/ Isolation

96. W‘l (WPA) WWMW% / WPA is an acronym for:

A) ?JITCIE-;c U QEFQG / Wired Process Access

B) IS Ueaes Q?:Faﬂ / Wired Protected Access
Q) a1§_q7—|-5‘ Ulddes Q?JFQH / Wi-Fi Protected Access
D) fﬂ'st—tb"l'st s [pepe) Qﬂ@ﬂ / Wi-Fi Process Access

97. frafiiad # 3 o Riced ¢ &1 aRiiia srarg? /

Which of the following defines a syntax tree?

A) T Ri¢e & § A19-elits (R-Ull) T8 81d & Sff STIRS (@ebrd) &Y e fUd vd §
@TWW@ 3R (Hﬁv_q@ Eﬁf%’l / A syntax tree has non-leaf nodes which
represent operands and leaf nodes which are operators.

B) Rica ¢ v U1 €1 & Fori® Udsh oith e U 3iiiRs (@) &l e HraT g,
e U SR Als, Td TReR (@fchad) &l Aefud s gl /

A syntax tree is a tree in which each leaf node represents an operand, while each
inside node represents an operator.

C) A-TE 3R TE T G SRS @) &1/

Both non-leaf and leaf nodes are operands.
D) AT-c1% 3R oIt gy ! SRR @) Bl /

Both non-leaf and leaf nodes are operators.

98. gIaTel STHEH (HiTga TUR &1 A yumel) Yqer B Uumell _ -3maiRa g1/

The basic GSM (Global System of Mobile Communications) cellular phone system is

based.
A) THSITHTY / FDMA B) ¢ISITHT / TDMA
Q) IISITHY / CDMA D) TISITHT / SDMA

99. 35Tt HiSTSd | ¥ A=l b1 YA fosal STl &2 /
Which technology is used in 3G mobile?

A) RIdE TSITAT / Narrowband CDMA ~ B) dISgsS HISITHT / Wideband CDMA
C) TMcds ASITAT / Shortband CDMA D) SISITHT / TDMA
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100. Tfafds gga @A FRI) &1 wfiis I A1 8? /

What is the primary purpose of image smoothing?

A) fHRI &1 dgMT/ Enhancing edges

B) IR HH BT/ Reducing noise

C) SIHI &1 Udl T / Detecting corners

D) Bfd faveT (P{Trﬁ?{‘ﬂ:l) dglHl / Increasing image resolution

101. TR B TP Hold LR, YR R & U H B T § IR aae
Wﬁﬂﬂ-ﬁ &Iﬂff‘éﬁﬁ%w I/ 1n architecture a central computer acts

as server computer and serves all the requests from client computers.

A) Tﬁﬂ%‘c’—ﬂ?{? / client-server
B) 4R QYﬁTR / peer to peer
Q) / macro

D) PHIH- §9 / common bus

102. f&1 & IRY 3R A & U foe gRT ot T8 IHT &1 H&T 91T §: / The time taken by a
single bit to travel around the ring is known as:
A) {7 fadedT / Ring latency
B) &Eﬁaﬁﬁgﬂﬁh (%fT:pf\’rﬂT) / Early token reinsertion (ETR)
C) ¥R fadiadr / Star latency
D) €I fadiedl / Tree latency

103. Frgforied & 9 fow Acads # Ude TRT (CHRM) & fod 9ad &4 fadear grm? /

Which of the following networks will have the lowest latency for packet
transmission?

A) @ a8 9§ Hrides "edm / Fully connected network
B) fl?[ﬁ?ﬂé?/ Mesh network
Q) ﬁ's’ﬁea%/ Grid network
D) E’RW/ Star network
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104, FEfiRad ®ie W fa=R BT
datatype_t a, b, C;
a = b+c;
fFufafRaa & 9 - ScIeRy, 39 hIS (datatype_t) & forg 3meef g, Wqﬂﬁ@ﬁ?
I8 DIS T SR UhHD (Treiss THTR) W IAd & 3R a, b, ¢ AH HHI 4t 256
9 3ifereb el g €7 /
Consider the following code:
datatype_ta, b, ¢
a=b+cg
Which of the following datatype is ideal for this code (datatype_t) assuming this
code runs on an embedded processor and the values a, b, ¢ never exceed 256?

A) uint8_t B) uint16_t
C) uint32_t D) uint64 t

105. FAgfafed & @ HF-T1 Y= HEY 82 / Which of the following statement is CORRECT?

A) T §TS ST H, STGE BT I+ [T STl & 3R a1 ¥ GIE STG a9 & 1Y
PIRRINI ST 81/ In the leftmost derivation, the input is scanned and
replaced with the production rule from left to right.

B) e ST8 I &, ITYC Pl Ih g a1 offidll § 3R 91¢ ¥ &4 Idle Fad &
1Y Ui et far ST 81/ In the leftmost derivation, the input is not
scanned and not replaced with the production rule from left to right.

C) Ga cIfeit g B, $TYe Y Wh+T bl offdl & 3IR &Y ¥ & IdTe Fad & a1y
gfeaefid fosar ST 81/ In the rightmost derivation, the input is scanned and
replaced with the production rule from left to right.

D) TaY I el , 37YC ol Wp -Te] a1 el § 3R 218 ¥ a7 3R T
aw & Ty gferfia 78T f5ar S 81/ In the rightmost derivation, the input is

not scanned and not replaced with the production rule from right to left.

106. FEfIRad & A HH-T ST TR LIFO UUTTe T IUTNT Bl 872 /

Which of the following data structures uses the LIFO system?
A) @Tﬂ/ Arrays B) INES] %IW/ Linked Lists
C) W® / Stack D) &/ Queue
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107. VSIS BT YA HRA & fo1T U Ufthobdt e Y& dRal g1 /

provide a graphical means for representing schedules.

A) ST ATE / Computing charts
B) Para| &W?ﬂé (Qﬂ@?ﬂ) / Message sequence charts (MSCs)
C) =T N / Message passing
D) QUHU / UML
108. 9 A T fawH &1 T899 HITTI / Choose the odd one out.
A) T8 Doit / Primary key B) gWR Pl / Super key
C) HHARI ol (ZWls PI) / Employee D) fag=ft doit (BRA ®1) / Foreign key
key

109. Fofafad & § o1 w1 deu-gaa v &1 o T8 82 /

Which of the following is NOT the property of context-free language?

A) (g 3TIRRH / Union operation B) Hhe-¥H / Concatenation
O FA FAOR / Kleene closure D) EE@EIQFT / Intersection

110. B3 faU™SH @09 AmHeT) & "J9eIfET Wse & T WA 82 /

In image segmentation, what does the term "Thresholding" involve?

A) &3 & o HTaTsfl &1 gdt AT / Detecting boundaries between regions
B) Bfd @I 3fr & &1 § fquTiora &=1 / Dividing the image into regions of interest
C) Iha Bigdl Bl Irg-R1 Bl H yRafcfd &1/

Converting grayscale images to binary images

D) RIR &1 HH B & ol B DI T (FHEGUT) HRAT /

Smoothing the image to reduce noise

111. fpormmt & Teof & vaugua o1 1 o (faaiRd =) g1 87 /

What does SSL stand for in the context of cryptography?

A) RIEIR Fidhe TR / Secure Socket Layer

B) IR WUeddR TR / Secure Software Layer
) R dide TR / Simple Socket Layer

D) WSS e TR / Standard Socket Layer

112. Frafafead 5 @ PH-30 v e S TRe g 87 /

Which of the following is NOT a linear data structure?

A) G IEE! (UT®) / Graphs B) @$/ Stacks
C) UfKT (@) / Queues D) #Raferd Tl (s fore) / Linked list
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113. |9 THfSTT fob 89 1: N ey GHR DI HY H=A1 164 &, FoTaH ST YSR R 3R S
M &, S8 R Ut UHR & N 3R § 3R S RAAdA Hisd & 1 3R 51 I8 UPR &
ol 1 9 & oIl & A1y BY foar S Ay /

Assume we want to map a 1 : N relationship type, which involves entity types R and
S, where R is on the N side of the relationship type and S is on the 1 side, to the
relational model. The attributes of the relationship type should be mapped to
attributes of:

A) IHTE UHR R & o afId TS / The corresponding relation for the entity type R
B) 3hIs UHR S & foTT Tafdd e / The corresponding relation for the entity type S
Q) i EWIBt UBRR AR S H ﬁﬂ Taferd day /The corresponding relations for both
entity types Rand S

D) U U Tal foa1 51 Jahdl / It cannot be mapped

114, ST AN SHTHR & THY BId §, ol (i & $& ATl U & AegH 9 T
IR & w0 & TRA 8 g1 /

are modest-sized buffers of data, transmitted as a unit through some shared

set of links.
A) W/ Packets B) qqar«m/ Envelope
C) ¥R / Structure D) aﬁ / Words

115. fAgfefad & 3 foog i Taniym &1 3ihd Hd UG- e 331 8? /

Which of the following sorting algorithms has the best average case performance?
A) ddd qic / Bubble sort B) JdaRE Ire / Selection sort

O Q'FIQH l:lﬁ/ Insertion sort D) Wﬂﬁ/ Quick sort

116. 919 Ueh YRAT (SR A 31T 8 3R I Al foran sirar g, o Fufafad # 9 oe-dt
Wﬁl@%ﬂfﬂ?ﬁ%? / When a branch instruction is encountered and NOT taken,
which of the following actions is performed?

A) PC=PC+4 B) PC=PC+8
C) PC=PC+OFFSET D) PC=PC-4
117. UfQ Ucliep 3N e el 1 fg off peT ST & /

Average information content per symbol is also called:

A) HId STl / Source energy

B) @ﬁﬁ?ﬁﬂ/ Source deviation
@) @HQ?ATC?[/ Source entropy

D) 9id fa=rer 3R |id Suif gl /

Both source deviation and source energy
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118. TH U A1 § ol SUANIhd! DI B A7 fogsft I SeT Uhd oA § 9em
I © S Sl DI Th JaH VI TR TR H & e giiF g1 /
is a technology that enables a user to collect data from several
measurement points that are inaccessible to transmit the data to an accessible

location.
A) é?‘ﬂfl_ggf / Telemetry B) AT Jead / Wireless network
C) g S1.TA. / WDN D) S&LUH.T. / WSN

119, fr g TfRTH A | Wi fSdio ARG (ThITH) BT SUANT I8! fhaT SI1d1 87 /

In which application Frequency Division Multiplication (FDM) is NOT used?

A) &t Aead / TV network
B) FM 3R AM ST TIRUT / FM and AM radio broadcasting
C) wyH Ule! o HIETZd WiH / First Generation of mobile phone

D) $¢34¢ / Internet

120. Fafefaad & 9 H9-a1 Se1 fofe Wa w1 dR Ag 87 /

Which of the following is NOT a function of the data link layer?

A) eTd TRA Bl Th B! IRE I WF Y Sy T BT /
Providing a well-defined service interface to the network layer.
B) T8 WRd W ¥U Y US-¢-U8 HaRM P YaeH il gl /
This layer independently manages the end-to-end connection.
C) FeRO (E'H&F‘ZFD aﬁfﬁﬁﬁml / Dealing with transmission errors.
D) 321 ¥ TaTE & faFafid &< i ¢t 711l arel UTetabelt Aot ST g1 TIfaa

g/ Regulating the flow of data so that slow receivers are not swamped by fast
senders.

121. & fore ufshareit & g TR 9B fHar Sdar gl /

For communication between processes is buffered.

A) TRIH Y Te=T HoiH / asynchronous message passing
B) Rish 1= Ta=T NoM / synchronous message passing
C) 1Y S U / multithreaded graph

D) THTIUBR AT / monopoly graph

122. T 3fd 8 SIS 98 URRR (dudsmsssry) = &I I’ axar §: /

A very large instruction word processor (VLIW) issues:

A) T FIfd T R vatfie fRR Adwr/
Multiple static instructions at a given time
B) T AT W R Ui =i fAdwr /
Multiple dynamic instructions at a given time
Q) w%ﬁé‘wwﬂﬁaww% / Cannot issue multiple instructions
D) RR few) ok nfaiiar @rafie) gt fdwr/

Both static and dynamic instructions
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123. R1 & 99 ¥ ST RMTART $31 & e Fufafed 3§ § si9-a1 R 9am 87 /

To transfer data from R1 to the bus which of the following signals is enabled?

A) R1out B) R1in
C) R1inout D) R1outin

124. FAgfafad & § ®9-T1 S Td 82 / Which one of the following statements is TRUE?

A) AR TP TSl § fS9H T A A1 iR U dohfciss faRiwd A9 glar gl /
A lexeme is a pair consisting of a token name and an optional attribute value.

B) IR, ATd UIUTH H 9UT &1 U S g oIl Udh <l o Ue 4 A W@idl g 3R
A fa=e® GRT I T & U IaIeXUl & U H UgaHI Al g /
A lexeme is a sequence of characters in the source programme that matches the
pattern for a token and is recognized as an instance of that token by the lexical
analyzer.

C) AR, RiewT ¢t 3R Riga 2aa o1 TN g S & fog &var & b faar
T Wecref &t 2P T HINT ST URUTST & 3= § a1 gl /

Lexeme uses syntax tree and symbol table to check whether the given program is
semantically consistent with language definition.

D) €I, Ricad ¢t 3R Riga Taat 1 STINT Ig Siia- & foe &=t & fob feam wan diomm
Wﬁﬁ?@ﬁ YT HT URHTST &b &IT;R?C[%HTH%TI / Token uses syntax tree and
symbol table to check whether the given program is semantically consistent with
language definition.

125. Fufafed § 9 oH-91 Y7 981 A1 87 /

Which one of the following statements is NOT correct?

A) RI &N BT SUTNT TIRIR a0 Hsifdes I=ad Sel &= AeiRd &1 &
fore fosam ST 81/ Shannon capacity is used to determine the theoretical highest
data rate for a noisy channel

B) Tdhd-9-]IR (RId-g-A1gw) IUTd (S/N) SMHIR TR SHiad (Sta H e fawan
ST ®, forgest 3 fRaferf@d 8: 10 * logao(S/N) /

The signal-to-noise ratio (S/N) is usually expressed in decibels (dB) given by the
formula: 10 * log1o(S/N)

C) SURYT e YR B! T BT Tobd Wl 3R IR fed & U I {11 971l 8, ford
TIUASR (RUd-g- AT 3UId) Hel S gl /

The amount of thermal noise present is measured by the ratio of the signal power
to the noise power, called the SNR (Signal-to-Noise Ratio).

D) TRfeh¥e THT & 3FR: fie &R = 2 * defagy facuAds /

Nyquist's theorem states: Bit Rate = 2 * Bandwidth bits/sec

126. HI-t Tfehan (TR &) Fafira Hiwsit & fiesR T 75 HIS s 87 /

Which operation combines two regular languages to form a new language?

A) YEATTGIHRT (hPhcRM) / Concatenation
B) Y (FfT) / Union

C) ufdwde (3eTUIH) / Intersection

D) I TSR / Kleene closure
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127. Tfe S1I3R1 <1 1 IR & &Y T a1 o711 §, ) 18 & 91U 5= QU A136S) Bl
G & fore ford 31 &1 ST fovart o ehdl 8 Ife J@HI® i 67 /

If binary trees are represented as arrays, what formula can be used to find a node's
left child if the index is i?

A) 2i+1

B) 2i+2
Q) 2i

D) (i+1)/2
128. fo 7 <) 1€ Acad Ui & ugaE Sifere? /

Identify the Network Technology given in the diagram.

A) MAN

B) LAN
C) VPN D) WAN
129. 3NTH3ITE Alsd B Sel i Rd H Irdd H & IR, AW 3R dAfforhd

fiid FHga (Tauah) R 8id &l /
The data link layer of the OSI model actually consists of two sublayers: Sublayer
and the Logical Link Control (LLC) sublayer.

A) Hif$a1 TRy Fed (@) / Media Access Control (MAC)

B) Hif$TH TRy deld @) / Medium Access Control (MAC)
(@) Iﬁ%mm@ﬂ (flﬁ / Media Access Center (MAC)

D) Hif$aT UshIg Feld (\) / Media Across Control (MAC)
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130. Frgfoiad & 9 HH-3 IRd Tde &1 9id @) T 7ide (SKHRF) 96 UgdNd! 87 /

Which of the following layers routes packets from the source to the destination?

A) URTE IR (SRUIE W) / Transport layer

B) i TRd (hefidd TR / Physical layer

C) 3Hih el del URd (Scl fdieh W) / Data link layer
D) SllciehH URd mm / Network layer

131, MeldTa gt ok St S o1 IuahT et g1/
protocol uses both UDP and TCP.

A) SITATY / DNS B) TWIdl / FTP

C) ¢THc / Telnet D) TYUHEIU / SMTP
132. $x-Ic IR PRA&d TR W&H HRA & e 99 srafoi o forg faviy =0 3 fog
fpornfthes Uiciopia o1 IUTNT fhaT ST 82 /

Which cryptographic protocol is used for web browsing to enable secure
communication over the internet?

A) TOCTUT / FTP B) THUHTT / SSH
Q) qaélé'd' / HTTP D) Qaéléldlw / HTTPS

133, TS URPPS Cae © o TP TR $T IUANT HRb WHCRE o
wqiaid far srar g1/ is the text that has been encrypted using an
encryption algorithm to change plaintext into it.
A) WHCRE / Plaintext B) Rrpreae / Ciphertext
C) RIwR / Cipher D) ST / Blowfish

134. 0S| B! HH-H TRA TUHRMA 3R fSHRA BT B HRell 67 /
Which of the OSI layers performs the function of encryption and decryption?

A) Wfds (BiSTpa) / Physical

B) 9A (@I?ZFD / Session

C) UR@gd (SIUIC) / Transport
D) Qﬁﬁ (ﬂﬁm / Presentation

135. JUIEh e AT ! TATHD Sex-c Weldbld (MU Ud |R 7Y o+ & oy
gexAC B! TUIGH B, S U B b bt afad & 18 &l HIF HeR IR A9 el 81 /
is the Internet's system for mapping alphabetic names to numeric Internet
Protocol (IP) addresses like a phone book maps a person's name to a phone number.

A) ScT AT JUTTel! / Data Name system
B) SIH- ATH YUM / Domain Name System
@) qW:ﬂﬂEl'UﬂFﬂ/ Discrete Name System
D) Sﬁ'ﬁ:ﬁf&’@m/ Domain Net Service
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136. Bfd TS (HUM) BT UG IeTT FT8? /

What is the primary objective of image compression?

A) Bfd [aveT W?RFD GO:TEI@?T/ Enhancing image resolution
B) Bfddl & Ty 3fTa=yeh YUGUN R HH DT /
Reducing the storage space required for images
C) Bfd heRe T YR &A1 / Improving image contrast
D) Sfaal 3 (@eqom) o1 fsepefur &r /

Extracting features from images

137. Frafafed & @ H19-91 favee Terdt &1 qored T8t 37/

Which one of the following is NOT the property of differential entropy?

A) SURGI-RT TRl @WF@R‘Q_{) / Translation invariant

B) fa¥ae Tl 3 dR W Ui gepAuiig Tfafmml & dgd uRad-ig Te g
g1 / Differential entropy is in general not invariant under arbitrary invertible maps.

@) g BUTHS 8l dhdl 8 / It can be negative

D) U8 =R & UREd & dgd SURTc1Y g SR IHIAT SR R & 1Y Je
JUIART €1 / It is invariant under change of variables and is therefore most useful
with dimensionless variables

138. Thfde SiftRex &1 Iudn Bfaa & &1 Udl TR & 1T fosan Sat g1/
The Prewitt operator is used to detect in images.
A) X1/ line B) fdg / point
O W/ edge D) R / place
139. FUfRed & | ®1F-91 U a1 31fie faRiwdrsit &1 4Ug § foriem! SuanT faed Rels ot
fafry & ¥ ugarA & fou fear S 82/

Which of the following is a collection of one or more attributes used to uniquely
identify a record?

A) Bﬂﬂﬂaﬂﬁ @%@‘c’ﬁ / Candidate key
B) ﬁ%&’ﬁ@ﬁ (ﬁ?ﬁ / Foreign key

@) WW (ﬁcﬁﬁ) / Super key

D) 3T $oil (TS D) / Sub key

140. BfIT H WIR TRIcaRH (@&01 Femyon & fag sk &R fAgfeiad & § foy doiie
T IUTNT faaT ST 82 / Which of the following techniques is commonly used for
feature extraction in images?

A) T e fa=awor (fRfiT) / Principal Component Analysis (PCA)
B) fexerum™ firem / Histogram matching

O @fag:mrfq:n (‘&'ﬁ\—ﬂ |§E;I§QI:|) / Image restoration

D) BRTR FUIGRUT / Fourier transform
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141. T URMAIT TaTe (3iTeife) gRIT fhd UBR &t HINT &l UgaT o Jobdl 82 /

Which type of language can be recognized by a finite automaton?

A) Q:i?ﬁ-f—ﬂaﬁ Q-ITNT\Q' / Context-free languages

B) Faffrd UISTT / Regular languages

(@) Te-Gag=fia UTSTE / Context-sensitive languages

D) EFR'ITJI?WW 3 g YT / Recursively enumerable languages

142. qhiag fawedl # ¥ -9 fisaate Hexl (Greeed fisd) Jed wfademed
AT ST 82 / Which computational model is considered the most powerful among
the listed options?

A) gRfid W (feb"ﬁ? &ﬁaﬁﬂ / Finite automaton

B) S{EIRIHR AT (YRISISA 3iciHer) / Pushdown automaton
@) E‘Qﬁ"’lﬂ?ﬁ:f / Turing machine

D) faarere afkfid \Hﬁfﬁ:{/ Deterministic finite automaton

143, FRafafad Fde w far Sifva)
ADD RT, R2, R3 //R1=R2+R3SUB R4, R1, R5 //R4=R1+R5
&1 U8 IS e gidr &, df Fafiiad gl 8: /
Consider the following instructions.
ADD RT, R2, R3 //R1=R2+R3SUB R4, R1, R5 //R4=R1+R5
When this code is executed the following happens:

A)Td ST R AG TR A g gl /

Neither data nor control hazard
B) TRETH® WART BT &1 / Structural hazard
C) fAg=Iur @aR1 8Ia1 81 / Control hazard
D) $¢T WaRT 8IdT 81 / Data hazard

144, S8 T Red g0 ST T IR & S A ufkaffa war g1/

Domain Name System is basically a server that translates:

A) &nécﬁumﬁsﬁﬁ:r?m/ I[P address to domain name
B) SO AH &I G{Iétﬂtl?ﬂ/ Domain name to IP address
Q) Sﬁﬁ:[?mﬁqm / Domain name to ARP
D) Qmaﬁ@ﬁq:fm/ ARP to Domain name
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145, UTR -1 SIIBIARM &1 I ¥4 B: /
The General form of power law transformation is:

A) S = c*ry, 98T ¢ 3R y YTHD RRIE g1 /

S = c*ry, where c and y are positive constants.
B) S = c*r, T ¢ 3IR r YD RRIP &1 /

S = ¢*r, where ¢ and r are positive constants.
Q) S = c*y, 98l ¢ 3R y &S RRIF § 1 /

S = c*y, where c and y are positive constants.
D) S = ry, 581 r 3R y YIS RRIF €1 /

S = ry, where r and y are positive constants.

146. fAgfefad # Q H19-T1 U Aceel &l YR Agi 87 /

Which of the following is NOT a type of metadata?

A) SRR HeTsel / Unstructured metadata
B) Ui Rerser / Descriptive metadata

C) ITATHD fIE'I@ET/ Structural metadata
D) URIEM® HeTsel / Administrative metadata

147. Fgfafaa DT Udh 3algell %: / The following is an example of:
Step 1: [INITIALIZE] SET BEG = lower_boundEND = upper_bound, POS = - 1
Step 2: Repeat Steps 3 and 4 while BEG <= END
Step 3: SET MID = (BEG + END)/2
Step 4: IF AIMID] = VALSET POS = MIDPRINT POS Go to Step 6ELSE IF A[MID] >
VALSET END = MID - 1ELSESET BEG = MID + 1[END OF IF][END OF LOOP]
Step 5: IF POS = -BEGPRINT “VALUE IS NOT PRESENT IN THE ARRAY”’[END
OF IF]
Step 6: EXIT

A) a'F:-'FRDIHEf/ Binary search B) Fﬁﬁﬂ?ﬂ?f/ Linear search
O mﬂﬁ/ Quadratic search D) W’Cﬁﬁﬁmﬁﬁ/ Exponential search

148. T f(n)= 15n3+40n2+2nlog n+2n &1 AT 3T E: /
The running time of the function f(n)= 15n°+40n?+2nlog n+2n is:

A) n® B) n®
C) nlog n D) 2n
149. T TTEITG-ATT P GRYTNT H & forg Uh HFdh HTHRU TUATG
(WTHfeSH) B 1/
is a standard grammar formalism for defining language syntax.
A) STAU% / BNF B) THIUW / NBF
C) THTAd! / FNB D) TRIUW / NCF

Page 31 of 37



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

150, G T T 1A BIAT 82 / What is mean by subnetting?

A)=C o / Gives routs

B) 3TqfI 3Teicd AT / Allot frequency
C) IP IdT TIYAT / Assigning IP address

D) ieddh Bl BIC Acdd STHRT H faHTioid H=1 /

Dividing network into smaller network section
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INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question

Booklet and the Answer Sheet before commencement of the test.

2. The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.

4. This booklet contains 36 Pages. Please check for completeness of the Question
Booklet immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be
marked on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely,
corresponding to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read
such marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once
darkened cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet
will be provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be
disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator.
Use your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.
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IT - Version C

Question No

Answer keys

Question No

Answer keys

Question No

Answer keys

1 A 51 A 101 A
2 B 52 D 102 A
3 D 53 C 103 A
4 D 54 C 104 A
5 B 55 A 105 A
6 A 56 C 106 C
7 A 57 B 107 B
8 C 58 C 108 C
9 D 59 B 109 D
10 C 60 B 110 C
11 D 61 D 111 A
12 A 62 C 112 A
13 A 63 B 113 A
14 D 64 C 114 A
15 B 65 B 115 D
16 B 66 A 116 A
17 C 67 C 117 C
18 D 68 C 118 A
19 C 69 C 119 D
20 C 70 B 120 B
21 B 71 C 121 A
22 B 72 D 122 A
23 B 73 C 123 A
24 B 74 D 124 B
25 B 75 B 125 C
26 B 76 C 126 B
27 A 77 A 127 A
28 C 78 B 128 A
29 B 79 C 129 A
30 C 80 D 130 D
31 D 81 B 131 A
32 C 82 A 132 D
33 B 83 B 133 B
34 C 84 B 134 D
35 B 85 C 135 B
36 C 86 B 136 B
37 B 87 A 137 D
38 A 88 C 138 C
39 C 89 B 139 C
40 A 920 B 140 A
41 D 91 C 141 B
42 B 92 C 142 C
43 C 93 B 143 D
44 A 94 C 144 B
45 C 95 B 145 A
46 D 96 C 146 A
47 D 97 B 147 A
48 A 98 B 148 A
49 D 99 B 149 A
50 D 100 B 150 D

Page 37 of 37



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




